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Supplemental Problems for Section 1.7
Example 1: For what value of the constant c is the function f continuous on 
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Solution:
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Example 2: The function f is given by the formula 
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 and by the formula 
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. What value of a must be chosen to make this function continuous at 1?
Solution: To be continuous, first the function must exist at 
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, that is, 
[image: image8.wmf])

1

(

f

 must be defined. For this function
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Thus, 
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 exists. Next, we must show that 
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 must exist, which is true if the left and right limits equal the same numerical value. Now
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Also, 
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Hence, in order for 
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 to be equal, 
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Hence, the function is continuous if 
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